INSTRUCTION SHEET

BGR SERIES

CABLE CHASE TOP

INSTALLATION

» Use a power driver, 72" socket, (2x) 5/16-18 x %" bolts, (2x) 5/16-18 x %" flage nuts,
(2x) 5/16-18 x %" bonding bolts, and (2x) 5/16-18 x %" bonding flange nuts to attach the upper-sides
of the enclosure to the cable chase top as shown. (FIGURE A)

BGR
Enclosure

Cable

>~ Chase Top BGR

Enclosure

NOTE: Expanded cutaway view showihg
bonding nut (cable chase top side) and
bonding bolt (enclosure side) for clarity.

W/

WARNING: A regular bolt and nut
o o o o ‘ & along with a bonding bolt and nut
must be used on top connections
through each enclosure and into the
] cable chase top as shown.
NOTE: _ _ AVERTISSEMENT: Un boulon et un
» The (4x) holes on sides of the cable chase top shown for clarity. écrou ordinaires ainsi qu'un mise a |2
* A regular bolt and nut along with a bonding bolt and nut must be used on top terre boulon et un écrou doivent étre
connections through each enclosure and into the cable chase top as shown. utilisés sur les connexions
» Two extra (4 total) connection hole locations are provided on each side for supérieures a travers chaque boitier
easier access around any pre-installed equipment. et dans la gaine de cable sommet,
« For more information, refer to the BGR Cable Chase instruction sheet (I-00484) comme illustré.

at www.legrandav.com.

WARRANTY S

For warranty information, refer to legrandav.com/policies/warranty_information.

Corporate Headquarters
P: (866) 977-3901 | F: (877) 894-6918 | legrandav.com | av.support@legrand.com

Middle Atlantic Canada
P: (888) 766-9770 | F: (888) 599-5009 | ca.middleatlantic.com | av.canada.customerservice@legrand.com

Middle Atlantic EMEA Technical Support
P: +31 495-726-003 | av.emea.middleatlantic.support@legrand.com

Factory Distribution
United States: New Jersey, California, and lllinois | Canada: Ontario | The Netherlands: Weert

MIDDLE

At Legrand AV Inc. we are always listening. Your comments are welcome. ATLANTIC.

Legrand AV is an ISO 9001 and ISO 14001 Registered Company. Abrand of Llegrand
1-00485 Rev A




